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(v) @UE—T ;¥ G 19-8 23 5 ITRIT IHRF AR—-<R 3] & §97 & | I J97
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(Vi) TS~ ¥ J37 GEIT 24T 26 T TR, Hig 79T I JTERT T97 & |

(vii) @UZ —F : o7 GET 27 T30 55 FHIT IBR & B:—: A% & J97 & | J9%
F97 BT I 170 F55] & 378 78] 511 =11%T |

(viii) F¥7-97 B3 TG 36T 781 & | TeT F& Fo71 § STk [aeeq HT JraerT 1527
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Please read the following instructions carefully and follow them :

General Instructions :

(1) This question paper contains 30 questions. All questions are

compulsory.

(i)  Question paper is divided into FIVE Sections — Section A, B, C, D &

E.

(iti) In section A - Question number 1 to 12 are Multiple Choice (MCQ®) type

Questions.

(tv) In section B - Question number 13 to 18 are Short Answer (SA) type

questions carrying 2 marks each. Answer to these questions should not

exceed 50 words.

(v)  In section C - Question number 19 to 23 are Long Answer (LA) type

questions carrying 4 marks each. Answer to these questions should not

exceed 100 words each.

(vi)  In section D - Question number 24 to 26 are passage, cartoon and map-

based questions.

(vii) In section E - Question - number 27 to 30 are also Long Answer type

questions carrying 6 marks each. Answer to these questions should not

exceed 170 words.

(viit) There is no overall choice in the question paper. However, an internal choice

has been prouvided in few questions. Only one of the choices in such

questions has to be attempted.

(ix) In addition to this, separate instructions are given with each section and

question, wherever necessary.
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1. 31 fush sfaei o fore smeron <6t ifd =61 we8 vgel f=fefeaa & @ feem e fpamen 2 1

«ug —<h

(a) YLl 3T (b) .. T
(c) stumie d) HRETEdR
2. fy=ferfea genat #i FeshuaR safe Hif 1

(i) TSH AT h RARTRET 1 AR AT |
(i) TR T8 1 T ST SUEHAT S |
(i) RIS = HTY TSlTe el 9L 2&ier |

(iv) Tie el T geTE= ST |

gl fashed g |
(@) (@), (i), (v) 9T (i) ()  (@v), (i), (@) 74T (1)
(o (D), (v), (1) 747 (ii) (d) (@v), (1), (1) 7T (iii)

3. 25 3, 1975 I, f=fafea & & frm Jar 3 yamgEht sfeu it & % forg

Tyt AT hl Twor sht off 7 1
(a) HIRSHT TS (b)  STISHIRT AR
(© i wT-2E (d) 3re forgrd ATt
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SECTION - A

1.  Who among the following introduced a policy of reservations for OBCs for

the first time ? 1
(a) Karpoori Thakur (b) B.P. Mandal
(¢) Indira Gandhi (d) Mayawati

2. Arrange the following in chronological order : 1

(1) Implementation of recommendations of Mandal Commission.

(i1) Appointment of Manmohan Singh as Prime Minister for the first

time.
(iii) Signing of the Punjab Accord with Longowal.
(iv) Appointment of Rajiv Gandhi as Prime Minister.
Choose the correct option.:
(@ @, (i), @v), @) (b) (), (ild), (), (i)
(0 (i), Gv), (@), (i) (d  @v), @), (1), (i)

3.  Who among the following had announced a nationwide satyagraha on 25th

June, 1975 for the resignation of Prime Minister Indira Gandhi ? 1
(a) Morarji Desai (b) Jayaprakash Narain
(¢) George Fernandes (d) Atal Bihari Vajpayee
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4. = feuw 7T 939 H Q) ST B HAN: AR (A) AT HROT (R) % &9 A 3iferd fepam man
2 | I HYAT ! HFH § ufeu 3R srenfaiad fosmedl 0 9 foreft v <l 98t Sk w0 4
g |
HANTHUA (A) : 1969 T HTH Il 1 forerom &1 |
HRUT (R) : i fadiehe 3 sfeu miieh & i mearst of |
ferpe
(a) AR (A) ST HW (R) QT #E € 3R FROT (R) SMH (A) 1 el FROE |
(b) MR (A) 3R HRV (R) G 91 &, g 0T (R) 31T (A) T Tt R0
TR
(¢ 3R (A) T8 B, WHRT (R) T 2 |
(d) SR (A) e B, THRT (R) TEl 2 |
5. IS AT 1 T3 fefrRga 5 F foreres gRT g3 o ?
(a) R o HfeT gr|
(b) YA % TFUT g7 |
(c) YTd TLhR o Ush T&dTd g7 |

(d) e a9 gRT |
6. Tg-ug o fagra ferad wega femam o, fraes s forfes s o favmem gam 7
(a)  3TSGH THHT (b) e o
(c) forfew awhm ) g e
7. TafaRea & @ +9 @1 we “dvdihor F IR T FE R ?
(a) vl ufverfieto 7 |
(b) SefieRtor SR R |
(c) oITeliehToT TR g & |
(d) VIR Teh TEITRATHT TR 7 |
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4. In the question given below, there are two statements marked as
Assertion(A) and Reason (R). 1

Read these statements and choose one correct answer from the given
options.

Assertion (A) : In 1969 the Congress Party faced a split.

Reason (R) : Factional rivalry existed between the Congress Syndicate
and Indira Gandhi.

Options :

(a) Both (A) and (R) are true and (R) is the correct reason of (A).

(b) Both (A) and (R) are true, but (R) is not the correct reason of (A).
(¢) (A)1is true, but (R) is wrong.

(d) (A)1s wrong, but (R) 1s true.

5. Planning Commission was set up by : 1
(a) Constitution of India
(b) President of India
(¢) aresolution of Government of India

(d) the Constituent Assembly

6. Who advanced the ‘Two Nation Theory’ that led to the partition of British

India ? 1
(a) Abdul Gaffar Khan (b) Muslim League
(¢) British Government (d) Congress Party

7.  Which of the following statements is TRUE about globalisation ? 1

(a) Globalisation is westernization.

(b) Globalisation is industrialization.

(¢) Globalisation is economic growth.

(d) Globalisation is a multidimensional phenomenon.
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8. Trm=fefea damemi d 9 w5 Afvges g 78 & 7
(a) UeTehicehT (b) EH TR
(c) @ srafer (d) e

9. freforfad # & i e ger o rwaid AT ?
(a) Terel TSIE 21 GRT SHThHOT
(b) Terelt HshTH T BT AT
(c) T T

(d) 3ATdeRaTE T forear

10. GIH Y T T&T 3639 & —
(a) I8 T BRRT S 1 U |
(b) ST Fef ] U |
(c) TRt i Tk |
(d) SRoTIRIET % HeTa S Vel |

11. 19 TT=, 2003 ! 37T 3 3Uh T fohd a1 & ST1shuor femam o 2
(a) SATRIA S5 & (b)  IATRIA Fh! hieH
(©) ITRYA SHIETRS i (d) TRIH TreguT e

12. T=Afafead o @ oM 91 <9 Sifaa T6 o1 9T & o7 7

(@) b (b) T
(© Fecft (@ TR
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8.  Which of the following resources is NOT a global common ? 1
(a) Antarctica (b) Ocean floor
(¢) Outer space (d) Forests

9.  Which one of the following is a concern under Traditional Security ? 1
(a) Attack by a neighbouring country
(b) Spread of any pandemic disease
(¢) Global warming
(d) Spread of terrorism

10. The main objective of United Nationsisto- . 1
(a) prevent manufacture of war weapons.

(®)
(©
(d)

prevent international-conflicts.
prevent industrialisation.

prevent spread of refugees.

11. On 19th March 2003, the US launched its invasion of Iraq under the code

name . 1

(@)
(b)
(©
(d)

Operation Desert Storm
Operation Iraqi Freedom
Operation Infinite Reach

Operation Enduring Freedom

12. Which one of the following countries was NOT a part of the Soviet Union ? 1

(@)
(©

59/2/3

Ukraine (b) Georgia
Italy (d) Estonia
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13. eI o1 312 TS SHehT gHT STaUoTIS < A1 fafaw | 1+1=2
14. JF % FF=8l a1 1 T AU HIT | 2
15. T o UH & YUTHEET shl U8 hify S Teh o8 A GRA o fq aaid @1 2x 1= 2
16. WA @ UH < TSAT 1 Tg= hifSu STal sheg THeBR 1 TIATE! SAT<le] b1 JTHAT
T LT | 3 RIS T A i aTel a1l o A1+ Tl | 1+1=2
17. T 3R 9Tl o6 o 1= draeeq shl fofdedn &1 S9rr hifse | 2
18. TA.E.U. TR gRI 2014 % e HigetsTl s Haridn Ue 3T o fore 3[& fohu mu femegi
Tl SRR T IeoE HITST | 2x1=2
ug — T
19. 3T[AhdTE % s 2l 3299 TIE IS IT 36k foheal <l Tfid Aol bl SR AL | 2+ 2 =4
20. “fohra 1 fsham UTr: gafeRer 1 B4 ugETd ® | fheel € waieRefia sreel & e
T Y T =ATFET SEUST | 2x2=4
21. 9RA 3R YIRS o S TEs=e] o1 YoaTeh IETEWT <h! HErIdl & HIfT | 4
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SECTION - B
13. Explain the meaning of security and mention its two notions. 1+1=2
14. Describe any two functions of the UNICEF. 2
15. Identify and name of any two Prime Ministers of India who remained in
power for less than a year. 2x1=2
16. Identify any two states where the Central Government had to
face separatist movements. Also name the leaders who led these
movements. 1+1=2
17. Highlight the speciality of India — Nepal relations. 2
18. State any two programmes launched by the NDA government after 2014
for women’s help and progress. 2x1=2
SECTION - C
19. Explain any two objectives of terrorism and highlight any two classic
cases of terrorism. 2+2=14
20. “Development mostly causes degradation of environment.” Justify the
statement referring to two environmental movements. 2x2=4
21. Evaluate the relationship between India and Pakistan with the help of
examples. 4
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22.  “YeeliehtuT I=Td TeNfiTehT bl €t Uk IRUTH B |7 <1 IeTEWIT <hl FaTar & U w1 gy Hifsw |

2x2=4

23. sfeq iRt gry e g o foTu 3314 MU fohegl = shedl 1 v IR | 4x1=4
Qg -|

24. = feu Tu sraduor 6 e @ ufed 31 Aenfalad geai & ST s 4x1=4

“MTA 3 3 TETY] TeT01 fopu 37 218 ST fob 3eh 418 &= 38991 o fote srvprfa
T A I AT B | 6k L SiTe ATk 3 oft oAy wdveqor fepw | sr=adiga femred
9 gHl R %8 wlaey T f5% §1e § ger forn T | wRa 3 oREm) STER i |fRe w6
fertre fomam 1
(24.1) WA A fore o 3 qammo] wdieor U ¢

(a) 1971 (b) 1985
@ 1992 (d). 11998
(24.2)  Fraferfiaa # 9 39 aff & g e T 9rg 3 g5 B o R foean
(a) AT TRATY] Iieqvl Hfaee g
(b) e FwgiET
ORRERISEEEI
(d) oy e af

(24.3) YR H YA W] oAl bl SAATAGAT AT
(a) nfrget geze < fere
(b)  TRETY 5§ % T
(c) TETRIfGTE! & YhTeeT ohid & feTg
(d) 3 gen % forg

(24.4) WA A Terueh ATTEEM § 379 TRHTY] SRIsHH i I[& foharm o1 2

(a) #.& w= (b) B ST, W
(¢) TS 37egd Hem (d) . FELTH
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22. “Globalisation is the outcome of developed technology.” Support the
statement with two examples. 2x2=4

23. Describe any four steps taken by Indira Gandhi to remove poverty. 4x1=4

SECTION-D

24. Read the following passage carefully and answer the questions that
follow : 4x1=4

India conducted a series of nuclear tests demonstrating its capacity
to use nuclear energy for military purposes. After this, Pakistan also
conducted tests. International Community imposed sanctions on both
India and Pakistan which were subsequently waived. India opposed the
international treaties aimed at non-proliferation.

(24.1) In which year did India conduct series of nuclear tests ?
(a) 1971 (b) 1985
(¢) 1992 (@) 1998

(24.2) Identify the treaty that India refused to sign.
(a) Comprehensive Test Ban Treaty
(b) Shimla Agreement
(c) Panchsheel Agreement
(d) Indus waters Treaty

(24.3) In the beginning, India wanted to generate nuclear energy for

(a) peaceful purpose.
(b) making atomic bombs.
(¢) competing with the super powers.

(d) ensuring its security.

(24.4) Under whose guidance did India initiate its nuclear programme ?
(a) C.V.Raman (b) Homi J. Bhabha
(¢) A.P.J.Abdul Kalam (d) K. Kasturirangan

59/2/3 I— 1] Page 13 of 24 P.T.O.

Previous Pathshala




[0 =]
i
[=]

25. WA o feu 7T UsHifosh W@T-amfa # =R U1 &1 (A), (B), (C) 3R (D) | g /=
2 1 = @ T8 IR o IMYR W 37 TSI <hl TgaM ST 7R 3ok T T, T bl
T BRI <1 v T qUT THA H 3Afchd Fraf=ard 318R 1 391 ITR-gfetent ° =
few wrew # fafew |

g T TSR h | TS HER | Oed AW
THH T

1.

1i.

111.

iv

() I8 TS T8 319 Q) sheg il & | favrerd fepam man @
(i) I8 TS AT “Usia ieft — ATeTe FHei” 0 et gy |
(i) o8 T Tores TeT S 1 ey o |

(v) 9 T Tl T FIere STTCIer ST g371 9T |
?-;.',‘:’/‘Vx. - Tﬁﬁﬁﬁﬁi‘@'l—‘qﬂﬁa
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25. In the given political outline map of India, four states have been marked
as (A), B), (C) and (D). Identify these states on the basis of the
information given below and write their correct names in your answer
book along with the respective serial number of the information used and
the concerned alphabets given in the map as per the format that follows :
4x1=4

Sr. No. of the Concerned Name of
information used Alphabet the State
1.

ii.
1ii.
1v.
(1) The state which has been bifurcated in two Union Territories recently.
(1) The state where Rajiv Gandhi = Longowal Accord was signed.

(111) The state to which Laldenga belonged.

(iv) The state from where the Dravidian Movement started.

;-'v':-"'“'\‘ Outline Map of India (Political)

-\, e

¢
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e : Frfaiad s wae gt adienfeat & forg e o 25 % WH W E 4x1=4
(25.1) HHITT TGN 370 LR TR ?
(25.2)  TorE TS U@ wamwEt TSfa e 6 g g8 off ¢
(25.3) 1966 H forH T=T I ATTA LR 9 Tfad forar T o 2
(25.4) TGl ST 7 foh® T 8 STTIEETEY STTCIei Sl edl feha o ?

26. = feu Tu H1E 1 eaHgdes 3rereH Hifore 3R Afafgd sk s fefen | 4x1=4

() 1 SHI Al b Ty Frefafga d A fraena g ¢

(a) A (b) forram
(c) afeaor =hifn (@ =
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Note :

(25.1)

(25.2)

(25.3)

(25.4)
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Article 370 has been abolished from which State ?

The following questions are only for the Visually Impaired
Candidates in lieu of Q. No. 25.

4x1=4

In which State was the former Prime Minister Rajiv Gandhi

was assassinated ?

Which State was created on language basis in 1966 ?

In which state did Laldenga lead a separatist movement ?

26. Study the given cartoon carefully and answer the questions that follow : 4 x 1 =4

THEN

Now

HU'S
CAPITALIST

"POWER

RED

(1) To which country are these two cartoons related ?

(a) dJapan (b) Vietnam

©

59/2/3

South Korea (d) China
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(i) e ferarer o1 gy forg fmmuma @ 7

(2) Yshame (b) TTEETE
(c) HFdaTg (d) ATdHaTE

(iii) defioed 28 o1 o AR R 7
(a) TTRETE Sl THTAT

(b) IShrare T TlehRAT
(c) UTIaTE reeawer 1 UsfiaTe & areHd
(d) IShaTe ST FHTEAT

(iv) TSN o TR W G’ 37T T § 1 SRS 7
(a) ‘7o e § ‘319 e o B
(b) & iR H IS N FAEE B |
(¢) “TE’ o JA=ld AT SR ‘I & JT=qia a1 ITch-IAT T Teih gdl 9 2 |
(d) “qE’ o AT IR ‘IS TdqT T3 S T 2 |

e : frefeRaa e wae gfvanfem udienfer & e e den 26 F M wE: 4x1=4
(26.1)  wra, f=fefea 8 8 fre foramem =1 /e Ftar @ 2

(a) 3G (b) THTSETG

(© s (d) |G

(26.2) 1982 ¥ far=fetftad § & s @1 ueh ufterad =fia ° fopan ma ¢
(a) 3T <1 Tasfientor femarm T |
(b) T THIfereh 3T IATRIH TehTdad b1 FHT fehat 74T |
(¢ foror smifefer &= wenfi fope o |
(d) M o TASiieRTuT foha TIT |
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(a) Capitalism (b) Communism

Red Book is related to which ideology ?

(¢ Humanism (d) Terrorism

What does the ‘Red Power Tie” depict ?

(a) Negation of communism

(b) Acceptance of Capitalism

(¢) Coordination of communism with Capitalism

(d) Negation of Capitalism

(iv) What is the difference between ‘then” and ‘now’ as per the cartoon ?

(a) ‘Rigidity’ has increased now in theideology of ‘then’
(b) Rigidity has decreased ‘now’ in the ideology of ‘then’.

(¢) The leader under ‘then’ and the leader under ‘now’ belong to
different political parties.

(d) The Leader under ‘then’ and the leader under ‘now’ belong to
different organisations.

Note: The following questions are for the Visually Impaired
Candidates only in lieu of Qn. 26. 4x1=4
(26.1) Which one of the following ideologies is followed by India ?
(a) Liberalism (b) Socialism
(¢) Capitalism (d) Communism

(26.2) In 1982, which one of the following changes was made in

59/2/3

China ?

(a) Privatisation of industries was done.

(b) China ended its political and economic isolation.
(¢) Special economic zones were established.

(d) Privatisation of agriculture was done.
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(26.3) fAfafgadasRarwsdasaRagd? ?
(a) FSTTUGA R |
(b) &l TSTTE 2 |
(c) TBT Fgaeia AATE |
(d) el forefi-Teft er g |

(26.4)  Tr=fafiga 1 @ w4 91 e fohey <= A qrag T2 8 2

(a) TUTIA b) <=
(c) . STEETEHe (d) 3T g3
Qus - &

27. (a) Wiforrd T8 o faee & fore saierh fordl o shmon <61 s Sifv | 3x2=6
AT

(b) TR ST hISH o 32T Ud 3Hb fehral ol UNUTHI ohl SIS HIT 12+ 2+ 2 =6

28. (a) = g g = % anfiies fosema % fotu 331U MU Rl <ffA el T Howiend
HIT | 3x2=6

AYAT

(b) ST H AN I Alha= o fd THT A arelt fohgl dH Tq@ =131
fergersor ST | 3x2=6
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(26.3) Which one of the following statements is true about China ?

(a) Itis arepublic
(b) It is a monarchy
(¢) It has multiparty system

(d) It has a coalition government

(26.4) Which one of the following symbols is NOT related to China ?

27. (a)
(b)

28. (a)
(b)

59/2/3

(a) The Great Wall
(b) Dragon

(¢) Bicycle

(d) ~Rising Sun

SECTION - E

Explain any three reasons responsible for the disintegration of the
Soviet Union. 3x2=6
OR

Explain the purpose of ‘Operation Iraqi Freedom’ and its two

consequences. 2+2+2=6

Evaluate any three steps taken by the Chinese leadership for the

growth of Chinese economy. 3x2=6
OR
Analyse any three major happenings in Bangladesh that show
peoples’ support to democracy. 3x2=6
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29. (a) Y. IS IUTEAT S Toemerry 37 gui o1 eareh 3eh! foramem Y fopedl i

ferersanati o SeR W AR | 3x2=6
Jreran
(b) 1971 3 1k T FATAT o Teheal o= TROTTHT T YoTehH HIFT | 3x2=6
30. (a) 9UW UEENid T 6l fermel e forsraanai 1 3smr hifsra | 3x2=6
Jreran
(b) TIAAAT % A A1G YRA TR o FHe fowenfua o @ srafa g el &=
GUEITSAT b1 IATR HITTT | 3x2=6
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29. (a) Evaluate the ideology and philosophy of Pandit Deen Dayal
Upadhyaya on the basis of any three features of it. 3x2=6
OR
(b) Evaluate any three outcomes of the Lok Sabha elections of 1971. 3 x2=26

30. (a) Highlight any three features of the First Five Year Plan. 3x2=6
OR

(b) Highlight any three problems faced by Government of India

immediately after independence related to the displaced population.

3x2=6
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